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1. A project manager has been overwhelmed with problems on his project. He would like to

identify the root cause of the problems in order to determine where to focus his attention. Which
of the following tools would be BEST for the project manager to use?

A.Pareto chart B

B.Conflict resolution techniques

C.Fishbone diagram

D.Trend analysis
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2.In which of the following situations should a control chart tool be used?
A.Showing trends in a process over time and forecasting future
B.Showing the relationship between two variables in a non-predictive
C.Monitoring and improving repetitive processes over time with defined
D.Identifying possible causes related to a problem
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3.The company wants you to select tools and technologies to implement the quality management
process and supplement existing quality control activities. Which of the following would you
choose?

A.Quality audits

B.Statistical sampling

C.Pareto charts

D.Trend analysis
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4.What diagram is used to illustrate the connections between work to be completed and team
resources?

A.Resource histogram

B.Organizational chart

C.Control chart

D.RACI chart
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5.Which of the following quality tools allows the identification of a possible relationship between
changes observed in variables?

A.Run chart B.

B.Pareto chart

C.Scatter diagram

D.Histogram
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6.The project manager in the control quality product inspection process discovers that a product
currently manufactured has a design defect that could potentially reoccur in the company’s future
projects. The project manager known the problem can be solved with a minimal Stander change.
What should the project manager do next?

A.Continue with the project as planed and leave the improvement for another project.
B.Recommend a standers update.

C.Update the quality management plan.

D.Wait until the next project manager’s meeting to notify other project manager of the problem.
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7.A product is test launched. The customer reports a few issues.The cost of correcting these issues
is classified as which of the following?

A.Prevention

B.Repair

C.nternational (Internal) failure

D.External failure
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8.ecause your project involves complex technologies and the number of different stakeholders,
you have to establish several change control committees (a technical review committee, an
engineering review committee). Now your project team members are threatening to say that
creating such a bureaucratic committee will destroy your image. You point out to them that a
change can be automatically confirmed without the involvement of any committee. An example
of such a change is

A.Proposed by the project sponsor

B.The outcome of an emergency

C.Suggestions from Customers

D.Commands arising from a new statutory rule
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9.Which of the following should be determined before developing project management plan?
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A.Project plan updates

B.Stakeholder skills and knowledge

C.Work authorization system

D.Constraints and assumptions
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10.our management has decided that all orders will be treated as "projects" and that project
managers will be used to update orders daily, resolving issues and ensuring that the customer
formally accepts the product within 30 days of completion. Revenue from the individual orders
can vary from U.S. $100 to U.S. $150,000. The project manager will not be required to perform
planning or provide documentation other than daily status. How would you define this situation?
A.Because each individual order is a "temporary endeavor," each order is a project.

B.This is program management since there are multiple projects involved.

C.This is a recurring process

D.Orders incurring revenue over $100,000 would be considered projects and would involve
project management
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11.The sponsor's role on a project is BEST described as.
A.helping to plan activities.

B.Decide the project objectives

C.identifying unnecessary project constraints

D.helping to put the project management plan together
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12 .Which cost estimation techniques are used in agile projects?
A.Thumb Rules

B.Bottom-up estimation

C.Parameter Estimation

D.Top-down estimation
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13.You are assigned project manager in executing project; the project is in control on baseline, if
customers are not satisfied with the performance, then what you should do firstly?

A.Discussing with project team

B.Baseline revised

C.Contract Renegotiation

D.Meeting with customers
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14.Which tool assists the project manager in executing large and complex projects more
efficiently?

A.Project management knowledge database

B.Organization process asset

C.Project management information system

D.Lessons learned
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15.A project manager presents the project plan to key stakeholders, citers stakeholder input, and
obtains approvals. Later, a stakeholder says that a detail in the communications plan reeds to be
changed, The project manager discusses it with stakeholder and they agree to the suggested
changes.What should the project manager do next?

A.Create subsidiary documents in the communications management plan.

B.Generate a change request and submit it to the change control board.

C.Keep the project plan as it has been approved by stakeholders.

D.Change the communications plan and request stakeholders’ approval.
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16.Lessons learned are BEST completed by:
A.Project manager

B.Team

C.Sponsor

D.Stakeholders
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17.Your employee is three days late with a report. Five minutes before the meeting where the
topic of the report is to be discussed, she hands you the report. You notice some serious errors in
it. What should you do?

A.Cancel the meeting and reschedule when the report is fixed.

B.Go to the meeting and tell the other attendees there are errors in the report

C.Force the employee to do the presentation and remain silent as the other attendees find the
errors.

D.Cancel the meeting and rewrite the report yourself.
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18.A project has an SPI<1 and a CPI>1. The project manager should take which of the following
corrective actions?

A.Crashing

B.Fast tracking

C.Resource leveling

D.Monte Carlo analysis

18.—MNIH 1 SPI<1, CPI>1, Tt H £ # NAZ KU B1IWR— I 24 1E 4 e 2
AT

B. bR IH Rk

C. BT 1l

DS R b

19.Given that you are neighbors, you and the CEO of your company have established a friendly
personal relationship. This fact has not gone unnoticed by your peers and associates. Recently,
your company appointed you project manager for a new project that is crucial to achieving next
year’s financial targets. Which type of power available to project managers might you be able to
rely on?

A.Referent

B.Reward

C.Formal

D.Expert
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20.As a project approaches completion.

A.Risk management is no longer needed
B.The cost of changes typically increase
C.The probability of high-risk items increases
D.Contingency reserves are no longer needed
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21.The project manager has just received a change from the customer that does not affect the
project schedule and is easy to complete. What should the project manager do FIRST?

A.Make the change happen as soon as possible.

B.Contact the project sponsor for permission.

C.Go to the change control board.

D.Evaluate the other components of the "triple constraint."
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22.During project execution, the customer wants to make a change in the project scope. What
should the project manager do?

A.Ask for a change request

B.Advise the customer that there is no possibility for changes while the project is underway.
C.Rewrite the project plan with the new requirements and implement it.

D.Involve top management to plan a new budget and resources.
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23.During the two weeks of project execution, team members reported that the client asked the

engineer about a possible new function. What should the project manager do next?
A.Discuss with customers the risks of changing project scope

B.Record customer's problems and proceed according to change management plan
C.Informing customers that any changes will result in higher costs

D.Evaluate impact and review project scope with clients
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24.When the project relies on external vendors and contractors, what document describes how
the project management system will be used?

A.Statement of work

B.Memorandum of understanding.

C. letter of intent

D.Project management plan.
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25. A project providing data center services has completed 50%. What should project managers
do when customers ask to move some deliverable milestones to meet new priorities?

A.Evaluate changes and continue without any impact on cost or schedule

B.Record change requests and submit them to the Committee for approval

C.Act in accordance with the Change Management Plan

D.Evaluate changes and continue without any impact on risk or quality
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26.A project is a week behind schedule because an engineer is not familiar with some of the
technology. The project manager assigns a senior resource to mentor the engineer and
documents it in the project management plan. This is an example of which of the following?
A.Work performance information

B.Expert judgment

C.Corrective action

D.Preventive action
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27.The project manager has a list of success criteria provided by different stakeholders at the
beginning of the project. The project manager is uncertain how to prioritize the success criteria
and must present the project charter in a meeting tomorrow. What should the project manager
do next?

A.Check with the sponsor about the project success critical and add it to the project charter
B.Discuss the success criteria with the stakeholders at the next project meeting

C.List all success criteria in the project charter

D.Select one of the success criteria and include it in the project charter
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28.Project A is delivered to customer A and the closure activities are carried out. The project team
will be transferred to work on project B for customer B. The sales manager requests the

project manager provide post sales support for project A. Which of the following should the
project manager do?

A.Move the project team to project B and start new initiation activities.

B.Suggest the sales manager obtain new resources
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C.Ensure project A’s specific knowledge is captured and transferred to the organization

D.Deny the sales manager’s request and refer to the contract
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29. A team member notifies the project manager that an assigned task cannot be implemented by
conventional methods. Team members suggest a new approach, but it may take extra time and
affect project benchmarks. What should a project manager do first?

A.Immediate implementation of changes to meet schedule benchmarks

B.Start the change request process

C.Meeting with the sponsors to explain the situation

D.Implementing Change Impact Analysis
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30.A customer asks the project manager add three small requirements to the project. The project
manager believes these small requirements could be done as part of the current baseline plan and
would not impact project resources, cost and time lines. The project manager should do which of
the following?

A.Include these new requirement and continue to deliver them.

B.Document the request and have the project team analyze it.

C.Ask for more time or money from the customer just in case.

D.Ask for more time or money from the customer just in case.
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31.The team encountered a flaw before. Team A members issued solutions, which appeared again
in a recent iteration. Team member B said that he had not received solutions. What do you need
to do as an agile management engineer?

A.Team work together to solve this problem

B.Sharing of Normalized Solutions

C.Functional Manager Reporting to Team Member B

D.Privately communicate with team member B
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32.The seller tells you that your activities have resulted in an increase in their costs. You should.
A.recommend a change to the project costs.

B.management to find out what to do.

C.have a meeting with ask the seller for supporting information.

D.deny any wrongdoing.

32325 HYRR, URIVEE TSNS ST AR N 1o AR %

AR T T H A

B WEHZ, REIWRINEG

CFRLTTIRMIFHE R

DEEE VSN Ga e

33.Which of the following BEST describes the project manager's role during the contracting
process?

A.Project manager has only inner involvement.

B.Project manager should be the negotiator.

C.Project manager should supply an understanding of the risks of the project.

D.Project manager should tell the contract manager how the contracting process should be
handled.
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34.You are about to take over a project from another project manager and find out the following
information about the project. Activity Z has an early start (ES) of day 15 and a late start (LS) of
day 20. Activity Z is a difficult activity. Cost performance index (CPl) is 1.1. Schedule performance
index (SPI) is 0.8. There are 11 stakeholders on the project. Based on this information, which of
the following would you be the MOST concerned about?

A.Schedule

B.Float

C.Cost

D.The number of available resources
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35.You recognize the importance of quality control for your project. However, you also know that
quality control has related costs and the project budget is limited. A way to reduce the cost of
quality control:

A.Strive for all quality processes to pass ISO certification

B.Use statistical samples

C.Overseeing the whole process

D.Use Trend Analysis
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36.A project manager takes over a large project supported by culturally diverse workforce. Within

a week, it becomes clear that there is a significant conflict among two of the groups because the
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former project manager favored one group with special perks and accommodations. What should

the new project manager do?

A.Immediately begin facilitating a satisfactory resolution to the conflict using a collaborative
approach resolution.

B.Find out why the project manager favored one group.

C.Post a new set of rules and regulations in s public location for all groups to see.

D.Report the problem to human resources.
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37.At the end of a project, a project manager determines that the project has added four areas of
functionality and three areas of performance. The customer has expressed satisfaction with the
project. What does this mean in terms of success of the project?

A.The project was an unqualified success.

B.The project was unsuccessful because it was gold plated.

C.The project was unsuccessful because the customer being happy means they would have paid
more for the work.

D.The project was successful because the team had a chance to learn new areas of functionality
and the customer was satisfied.
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38.A customer has given you a contract statement of work for a complex, eight month project
that has a few unknowns. The customer has asked you to just "get it done" and only wants to see
you at the end of eight months when you deliver the finished project. Under these circumstances,
which of the following is the BEST thing to do?

A.Complete the project as requested, but validate its scope with the customer occasionally
throughout.

B.Complete the project within eight months without contacting the customer during this time.
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C.Ask management to check in with the customer occasionally

D.Complete the project, but document that the customer did not want contact. Procurement
Management Answers
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39.A project manager runs a mission critical project with a tight schedule and budget constraints
some activities are key dependencies for the other.Which of the following components should be
monitored closely to keep the agreed upon project schedule baseline?

A.Riske and their mitigation plan

B.Activities on the critical path

C.Overall change control

D.To perform a task with more experience
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40.The scope is verified, and deliverables are completed and accepted by the stakeholders. Based
on these deliverables, the organizational process assets and the project plan. What should the
project manager do next?

A.Close the project or phase

B.Report performance to the team

C.Arrange a kick-off meeting

D.Conduct a quality assurance review
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41.Effective communication is vital for project success. Scope changes, constraints, assumptions,
integration and interface requirements, overlapping roles and responsibilities, and many other
factors all pose communications challenges. The presence of communication barriers is most likely
to lead to

A.Reduced productivity

B.Increased hostility

C.Low morale

D.Increased conflict
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42.The summary milestone schedule and summary budget have just been determined. What
project management process group are you in?

A.Initiating

B.Planning

C.Executing

D.Monitoring and controlling
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43.Which of the following is used in define scope?
A.Product analysis

B.Scope baseline

C.WBS dictionary

D.Forecasts and inspection
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44.0n larger projects, a Responsibility Assignment Matrix(RAM)can be developed at various levels.
Which option exemplifies the RAM’s levels?

A.High-level can define a project team group or unit is responsible for within each component of
the WBS, while lower-level are used within the group to designate roles, responsibilities, and
levels of authority for specific activities.

B.Lower level is used only to designate levels of authority for specific activities.

C.All levels are used to designate roles, responsibilities, and levels of authority for specific
activities.

D.High level allows a person to see all activities associated with one person.
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45.A project manager gets a call from a team member notifying the project manager that there is
a variance between the speed of a system on the project and the desired or planned speed. The
project manager is surprised because that performance measurement was not identified in
planning. If the project manager then evaluates whether the variance warrants a response, the
project manager is in what project management process?

A.Initiating

B.Executing

C.Monitoring and controlling

D.Closing
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46. The company was awarded a contract to develop a production assembly line for a product.

Customers are concerned about a potential risk associated with key components. Which of the
following will help the team enter the design phase of the project?

A.Developing prototypes

B.Implementing benchmarking

C.Conduct a customer seminar

D.Six Sigma Analysis
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47 You are taking over a project during the planning process group and discover that six
individuals have signed the project charter. Which of the following should MOST concern you?
A.Who will be a member of the change control board

B.Spending more time on configuration management

C.Getting a single project sponsor

D.Determining the reporting structure
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48.A conflict occurs between team member A and team member B in a project. The project
manager calls both team members together and examines different solutions to the issue. Which
of the following techniques does the project manager use to resolve the conflict?

A.Confronting

B.Compromising

C.Controlling

D.Forcing
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49.PMP's company intends to set up a PMO, and its superiors ask them to guide potential new
project managers on how to develop a project charter. What is the most appropriate response for
PMP?

A.They agree because they are possible helping to develop the profession.

B.They decline because it would be unethical to talk about PMI knowledge without the
organization’s permission.

C.They decline because they will be spreading confidential information about the project
management profession.

D.They agree because there will be a personal gain associated with undertaking this activity.
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50.When a project manager approaches the end of their company’s big project, the company’s
organizational structure, objective and Strategies have changed. What should the project
manager take from the following methods?

A.Speak with the line one manager to ensure the whole resources should continue to complete
the task which assigned before.

B.Check if there is budget available to continue the project following the master schedule.
C.Disregard the change in goals and strategies and continue to run the end.

D.Inquire with the project sponsor as to whether or not the project still fits the company’s
Strategies.
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51.After a long and frustrating day, your company CEO found himself circling the attendant’s

booth at the adjacent parking garage in a futile attempt to find his way out of the building (his
limousine driver had taken the day off). He approached the building manager the next day and
said he would have his staff design an improved system for vehicle egress and ingress. You are the
project manager for this project. You decide to use flowcharting to

A.Help analyze how problems occur

B.Show dependencies between tasks

C.Show the results of a process

D.Forecast future outcomes
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52.A project manager is managing his second project. It started one month after the first and both
are ongoing. Though his first project is small, this one seems to be growing in size every day. As
each day passes, the project manager is beginning to feel more and more in need of help. The
project manager has recently heard that there was another project in the company last year that
is similar to his second project. What should he do?

A.Contact the other project manager and ask for assistance.

B.Obtain historical records and guidance from the PMO.

C.Wait to see if the project is impacted by the growth in scope.

D.Make sure the scope for the project is agreed to by all the stakeholders.
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53.Which of the following is an example of quality control?

A.ldentify quality requirements and \ or standards for the project and product

B.Determine whether the work is continuously improving

C.Recommend action to eliminate the root causes of unsatisfactory product performance
D.Determine whether project activities comply with organizational and project policies, processes,
and procedures
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54.A project manager discovers that a work package has been completed for substantially less
cost than planned. Which of the following is NOT among the first things to consider doing?
A.Make sure all project processes were followed.

B.Make sure the right resources were used.

C.Make sure all the work was done.

D.Identify ways to increase the result.
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55. According to the iteration burn-out diagram, what is the current state of the iteration when
comparing the planned and completed story points?

A.lteration is at risk

B.The team has deleted the scope

C.Iteration ahead of schedule

D.Stable team speed
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56.Stakeholders can be identified in which project management process groups?
A.Initiating, planning, executing, monitoring and controlling, and closing
B.Initiating and planning

C.Planning and monitoring and controlling

D.Monitoring and controlling and closing
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57.A project manager advises the project sponsors of a significant project cost overrun. The
sponsors want to know why they were not advised earlier of this situation. What should the
project manager have done to address this issue prior to the sponsors' feedback?

A.Create a communication plan to address the needs of the project stakeholders

B.Invite the project sponsors to team meeting for regular updates

C.Add contingency to the project budget so overspend is absorbed into project costs

D.Cut back on project resources to the project to recover cost overrun as a matter of urgency
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58.The project team met the project timeline, but exceeded the budget. They key stakeholders
formally accept the deliverables and the project team completes the postmortem review. What
report should the project team create?

A.Project management report

B.Project closure report

C.Cost and profit report

D.Final status report
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59.A project manager uses a schedule network analysis technique in which a distribution range of
probable activity durations is defined for each activity. Which of the following techniques should
the project manager use to calculate a distribution of possible outcomes for the total project?
A.Resource leveling

B.Monte Carlo analysis

C.Critical Chain technique

D.Cause and effect analysis
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60.1f the end date of an initial plan is later than the desired date, what is the FIRST action the
project manager should consider?

A.Reviewing current resource on the project

B.Determining whether more work can be done in parallel

C.Starting critical path activities at their early start dates.

D.Negotiating a change in scope for an activities with negative float
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61.To control the schedule, a project manager is reanalyzing the project to predict project
duration. She does this by analyzing the sequence of activities with the least amount of scheduling
flexibility. What technique is she using?

A.Critical path method

B.Flowchart

C.Precedence diagramming

D.Work breakdown structure
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62.At a project status meeting with the customer, the customer expects a deliverable that the
project manager does not believe is in scope. The project manager confirms that this deliverable is
a new requirement. What process should the project manager follow?

A.Perform integrated change control

B.Review work breakdown structure

C.Update project management plan

D.Perform risk assessment
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63.The project is close to completion. All project deliverable have been accepted by the
stakeholders. The program manager has asked the project manager to take on another project. All
external contracts have been met and all the contracts closed.What should the project manager
do?

A.Announce the project is closed and move to the new project.

B.Ensure that all procedures to transfer the project’s products and service to production are in
place.

C.Conduct an external review of the project by a team of experts.

D.Ensure the remaining project activities are transferred to the new project.
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64.The main focus of life cycle costing is to :

A.estimate installation costs.

B.estimate the cost of operations and maintenance.

C.consider installation costs when planning the project costs.

Dconsider operations and maintenance costs in making project decisions.
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65.To generate creative ideas during the Collect Requirements Process, the project manager
solicits a group of experts through a series of questionnaires, which are kept anonymous and
whose answers are went directly back to the project manager. This technique is known as which
of the following?

A.Nominal group technique

B.Delphi technique

C.Brainstorming

D.Mind mapping
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66.A company wants to start a new product line. The following activities were identified by the
project.Activity D was delayed due to the unavailability of a raw material. How many days of delay
could the project manager absorb without delaying the project?

A.20days

B.10days

C.15days

D.Odays
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67.During project executing, one of the electrical engineers informs the project manager that the
life cycle cost of the new heating and air conditioning system is higher than the life cycle cost of
another heating and air condition system. What should the project manager do?

A.Determine if there is room in the project budget for the additional cost.

B.Select the product with the lower life cycle cost.

C.Select the product with the best life cycle cost to earned value ratio.

D.Select the product with the lowest maintenance cost to life cycle cost ratio.
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68.Which of the following BEST alerts the project team to those issues that may cause future
problems to the project?

A.Work performance reports

B.Work breakdown structure (WBS)

C.Quality management plan

D.Risk variance reports
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69.A project is behind schedule and over budget. The root cause of the issue is that the engineer
added functionality into the design, per the customer's written e-mail, on which the project
manager was copied. Which of the following could have prevented this is issue?
A.Communication plan

B.Risk management plan

C.Project management

D.Change control system plan
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70.Which analysis technique is used to determine the basic underlying reason for a variance,
defect or risk?

A.Root cause analysis

B.Schedule baseline analysis

C.Cost variance analysis

D.Problem analysis
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71.Which of the following attributes is true for a competency?

A.lt is a smallest unit of dimension of competence.
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B.It affects only a minor part of one’s job.

C.It correlates with performance outside the scope of the job.
D.It can be improved through training and development.
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72.Configuration management describes procedures for applying technical and administrative
direction and surveillance. Which one of the following tasks is not performed in configuration
management?

A.Establishes an evolutionary method to request changes to established baselines

B.Provide opportunities for project by considering the impact of each change

C.Establish a mechanism to communicate all approved and rejected change to the stakeholders
D.Allowing automatic approval of changes
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73.The customer rejected a Web application developed by the team because the customer
thought the requirements were missing. What steps should the team take to ensure that
development work passes acceptance?

A.Perform periodic reviews and product demonstrations with customers
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B.Re-start new projects with new customer needs

C.Communicate all changes during product demonstration

D.Get approval from project manager before product demonstration
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74.A project manager has been collecting work performance information during the project
execution phase. What is the main purpose of this action?

A.To monitor cost, schedule progress, and deliverable status.

B.To monitor team member performance in the project

C.To assess training requirements within the project team

D.To update the project management plan
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75.The project team has just completed the initial project schedule and budget. The NEXT thing
todois:

A.Begin identifying risks

B.begin iterations.

C.determine communications requirements.

D.create a bar (Gantt) chart.



s PMP (SEEAIRE $=18 (SEER) offch wapmp
75,35 F1 EARIIRI 52 1 T 35 ) SR R, B F oA 4

ATFI A

T

C AT R

D. I H 45

76.The process for identifying & controlling functional physical design characters of the products
supplied by the project is found in which of the following?

A.Project management methodology.

B.Configuration management system.

C.Procurement management plan.

D.Quality management plan.
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77.A project manager is trying to complete a software development project, but cannot get
enough attention for the project. Resources are focused on completing process-related work and
the project manager has little authority to properly assign resources. What form of organization
must the project manager be working in?

A.Functional

B.Matrix

C.Expediter

D.Coordinator
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78.The actual expenditure of a project to date is US$850,000, of a US$900,000 total project
budget. The current earned value is US$750,000. What is the status of the project?
A.USS$100,000 over budget

B.US$5,000 under budget

C.US$100,000 under budget

D.USS$50,000 over budget
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79.The company decided to implement agility for a new project and set up an agile team. How
should agile teams be organized to ensure success?

A.Through Skills Combination

B.cross functions

C.Spontaneous organization

D.Passing Stage
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80.A's customer satisfaction survey shows that customers have a tendency to invest in
competitors due to lower service levels. along with

The imminence and competition of deregulation has become more and more fierce. The CEO
announced that it will improve the customer experience in the first place. Which of the following
technologies should be used?

A.SWOT analysis

B. Delphi

C. Fishbone diagram

D. Expert judgment
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81. The project milestone list is.

A. Generated by each party

B. A series of schedules for all project activities

C. Progress benchmark

D. All milestones, including mandatory and optional
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82. The project management plan results in a schedule that lasts longer. If you can't change the
network map, but there are enough people,

you should.

A. Quick follow-up project

B. Resource balance

C. Crashing

D. Monte Carlo analysis
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83. The project manager is working hard to coordinate all activities and determine the following
information. Activity 1 can start immediately and estimate the duration of the activity.

1 week; Activity 2 starts after Activity 1 is completed, the estimated activity period is 4 weeks;
Activity 3 starts after Activity 2 ends, the estimated activity period is 5 weeks; Activity 4 starts
after Activity 1 ends, and the estimated activity period is 8 week. Activity 3 and Activity 4 must
be completed before the end of the project. What is the critical path of the project?

A.10

B.11

C.14

D.4
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84.A project manager is pleased the company has obtained a project in a new geographic
location. The project manager identifies and prioritizes the risks of this project.Which of the
following actions should the project manager take next?

A.Initiate the risk process

B.Identify threats and opportunities

C.Plan to enhance opportunities and reduce threats

D.Review and update risk information

84. 11 H A FAR i X~ mAEFT s X S H o BUH PR 12300 H XK IE T DR . 30H

ZPR N R NCRET ZI R4 5 2
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85. The optimistic estimation time for an activity is 12 days, the pessimistic estimation time is 18
days, and the most likely estimate is 15 days. Then the standard deviation of this activity is.

Al

B.1.3

C.0.5

D.3
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86. The project manager uses progressive detail techniques to define project activities, with
detailed plans for the work that needs to be done in the near future,

For future work, the WBS program is at a higher level. Which of the following techniques does
the project manager use to define an activity?

A. Rolling plan

B. Expert judgment

C.WBS

D. Decomposition

86. 10 H 22 LA T 1k W 440 50 A O 58 SCIRF 3 317, o 2 30 0 75 22 5 B A AR 4 i )
XFASR TAENIFE S i/ —4% WBS & TH & AR N 7 — I R & U3 ?
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87. In the middle of a key project, the project manager found that the project was behind
schedule. Which of the following should the project manager perform?

An activity that brings the project back to normal progress?

A. Resource balance

B. Adjust the lead time and the amount of delay

C. Progress compression
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D. Assume scenario analysis

87.E—ANCHEI H () PRI B, T0H &R BN H Y4 5 T3 . T H S5 ROZAAAT R 51
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88. The earliest start (ES) date of an activity is day 3, and the latest start (LS) date is day 13 and
earliest end (EF)

The date is the 9th day and the latest end (LF) date is the 19th day. Then this activity is.

A. On the critical path

B. There is lag time

C. It is going well

D. Under normal circumstances, not on the critical path

88 —IH AR BT i (ES) HIWARSE 3 R, WBEITL (LSO HIMRSE 13 K, HF4H (EF)
HIIZHE 9 K, ®MLHR (LF) HEIRNE 19 K. MESA.

ATER B4 b

B ¥ Jim i 7]

C.3E J A

D.AEFLL T, AERB AT L

89.The organization is experiencing a transition from waterfall mode to agile development. It
plans to adopt a "hybrid agile" process step by step. The project manager is hired to manage a
two-year project in the organization. The senior management team wants the project manager
to formulate an overall project plan, including project roadmap and milestone prediction. What
should the project manager do?

A.Developing road maps and milestones based on needs
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B.Define time boxes and determine deliverables
C.Explaining agile methods does not define long-term goals

D.Keep deliverables and milestones aligned with the organizational vision

89. A ZUIEAE 2 )] N BAT B BB TT A e A, TH R R IR S 8E I iR, BTH 28
B FRAEZAH R — AN AR T, 5 =8 SR\ BB H 28 BT — A4k
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90.The project is calculated to be completed four days after the desired completion date. You do
not have access to additional resources. The project is low risk, the benefit cost ratio (BCR) is
expected to be 1.6, and the dependencies are preferential. Under these circumstances, what
would be the BEST thing to do?

A.Cut resources from an activity.

B.Make more activities concurrent

C.Move resources from the preferential dependencies to the external dependencies

D.Remove an activity from the project.

90.fli T+ I H LI (8] 5EIR 4 RTEH, VRASRERGINANSP il T H XS B, Y as il bl
# (BCR) & 1.6, WKBIKANICEHKX R, ARXFMBEILT, BNZ.

A BB — 5 B B IR

B % Tl H & 3 AT AT

CAUM IR IR K R TE BN BHIR A% RSN ER 2 L 5C /IG5 b

D.MIBRIT H H i) — I 2h
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91.During the execution phase, the project manager tracks and updates the status of planned
risks in the risk register. This register also contains risks that are direct outcomes of
implementing a risk response. This risk is called which of the following?

A.Watch list

B.Contingency reserve

C.Nominal risk

D.Secondary risk

OLAEPAT BB, IT H 22 R KU 7 ARG, 6510 M SE 8 it R AR RS . & e i
IR e STt DX T 8 LA S U XU o XA KU R AR A T B — T ?

A NPT R

BNV G fi# % &

C.A4 SO

D. IR A R

92.A project manager present a project status report to the PMO team. A senior member of the
team identifies that local authorities were not involved in the project. As a result, the company
may have to pay a penalty. The project manager failed to do which of the following?
A.Stakeholder identification

B.Communication plan

C.Stakeholder management strategy

D.Requirements planning

921 H &M PMO HIBN 22211 H AR S - PMO  HIBA [ — 4 =1 2% A N 4 i BUR ALY
RS HRZHH . B, A5 JSCA TE. BUH 2P gl T h i s AR ?
ARIAR R TT

B.74E 14

C.I00H AR5 8 PR i

D. 75 K iHXl
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93.A project manager is initiating a new project. What is the main reason for identifying all
stakeholders?

A.ldentify costs and plan a budget

B.Understand expectations and maximize positive influence.

C.Plan communications and collect requirements

D.Plan quality and identify risks

93T H A B IEE R 8 —ANFr I A, RBPA T R AR EE R4
ARG A TR TSR

B. JAETIUYIINIEE, IR 1k i 52 e KAk

C.HRIVA @ RIS AR 75 3K

D. i) it 2 AR ) XU

94.During a team meeting, the project’s chief architect opposes setting up the plant near
agricultural land. Which of the following activities could have prevented this situation?
A.Stakeholder analysis

B.Stakeholder manager

C.One-on-one meeting

D.Information distribution

94 7E I U rh, T H AR BT SO AEAOMY F B T gl T TR A — TG B AT DARE
FeIX MG B R AR ?

AT F 77 73 #

BT H AH 57 BRI
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95.In a complicated project , stakeholders have different information requirements . which of

the following should assist the project manager to meet the stakeholders expectations?
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A.Communications model

B.Communications management plan

C.Communications

matrix

D.Communications scope

95 AE—MERILIH F, MRTTHEEANFERUEE TR, T HIRAR SO w] B H 28 P 2
FHSRTT I ?

96.You prepared an integrated project plan and a project schedule. You submitted it to the
steering committee and it was approved. Key stakeholders accepted the plan. It is time to
distribute it. Both the project plan and schedule should be distributed to

A.All stakeholders in the performing organization

B.All project stakeholders

C.Project team members and the’ project sponsor

D.People noted in the communications management plan

96 MRAEHER — NERG T H tHRIA— DT H I K. B EIRZSFERTRE R, G
B UM ARE MRS TR DR R AR TR 1 T H TR [E]) 2
G R

A. HLEPHATIH M E A R &7

B.IH FT A HIAH R TS

C.I0 H /N 3R H AN

D.{EVA I PRI PR BT A

97A project is nearing completion when sponsor A is replaced by sponsor B. What should the

project manager do first?
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A.Meet with sponsor B to determine if any project changes are needed.

B.Finish the project based on the sponsor A's goals.

C.Begin change control procedures.

D.Update the stakeholder register.

97. 4 Ft AFIIIAEN B BACU A I, TH LT, WHSMEELNIZEAM?
ASREN B &, #E2 S HEAEM I H A
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98.A project manager gives the new project team member the responsibility of communication
management. As part of that responsibility, the project manager asks the team member to
create a communications management plan.Which of the following would not be needed to
create this plan?

A.Project charte

B.Stakeholder register

C.Requirements documentation

D.Risk management plan

98.151 H 22 BRALHT A3 H 141 BA B 7 AR R I8 B 51T AME N RIBZ DU ARG 7, BUH
22 PHLE A BA R D B i — VAl PR R . A AR, WA TR A — 1502
AT H FRE

B.AH IR TT E LM

C. 7 K

D. XU A PR K]

99.A large, one-year telecommunications project is about halfway done when you take the place
of the previous project manager. The project involves three different sellers and a project team
of 30 people. You would like to see the project's communications requirements and what

technology is being used to aid in project communications. Where will you find this information?
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A.The project management plan

B.The information distribution plan

C.The bar chart

D.The communications management plan

99 — KA ST H BEATH] 17—, XEREUR T Z AT H S8 ZEB & 3 A
ST, WUHBIAE 30 NZHp. PRAETE I H 178 58 BER A (k10 H v BT
iAo ARAT AR B R AFIX B 15 5 2

AT H & HTHR

B.f5 & i 114
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100.During project execution, the project manager observes that a particular resource is
underutilized. Resource leveling aims to do which of the following?

A.Minimizes the variations in resource loading

B.Maximizes the variations in resource loading

C.Minimizes the loading of resources

D.Maximizes the motivation of resources

100.7E 3 H P47 18], T H 2 BRI A SRS R 8 0 A« BEIE-FE T H 82 T 51006
—Iji?

AR BEIR DT A2 A

101.A project team faces both positive and negative risks. Which strategy should be used to deal
with both types of risks?
A.Transfer

B.Accept
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C.Share

D.Mitigate

1021350 H [T AT A o AR R AR ISz o T~ 470 R A SR T A P SR Ak BT — e XL S 204 2
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102.An agile project has 11 centralized team members who work at a steady pace. Halfway
through the ninth iteration, some team members left and were replaced by five geographically
dispersed members. What expectations do agile project managers have for new project teams?
A.Teams will be formed and executed at the same speed as previous project teams.

B.Before the team can perform its work at a steady pace, the team will go through a period of
shock and standardize in more frequent communication.

C.Teams will handle and resolve any team conflicts that occur

D.Team members will focus on their own deliverables and speed

102~ MEFEB H A 11 LEDIAAREIBS A, M1 — M E R AT AR . 25
9 Yk, AL ABE, Jfh 5 A0 EEA R B B A R AR, BUETTH
7 BTN T 3 T [ A A AT 3455 2

ABBCRE AL, IR LRI H I BARE FR] f33 BE 7K P AT A

B.7E BN LARE R FRIE B2 AT AR A, HIBCK 2 =% b B, A2 S8 9 A % v il v A Ak
C. AT BACRE Ak ZEA gt 5 2 AT AT 11 A e 5%

D. 1 BA s 5 4 SRVEAATT B O AT A4S R AT

103.A project health check identified a risk that your project would not be completed on time.
Several projects are competing for the same resources, and a serious resource conflict is

emerging. As a result, you are quantifying the project’s risk exposure and determining what cost
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and schedule contingency reserves might be needed. You performed a schedule risk analysis
using Monte Carlo analysis. The basis for your schedule risk analysis is the

A.WBS

B.Gantt chart

C.Schedule network diagram and duration estimates

D.Probability/impact risk rating matrix

103. T H F“fe HEAS 75 A AR AR T T s 02424 I 52 1 i UG o LA T A2 58 S AH R
BEUR, BT E A BEIRAR . BT, AR E RS EAT TR T, BE AT AR
TR T N A It DA B 2 R ZE AT A A o UR3s T S5 R 2 0 M iR it AT I 18] 3R XU 7 T
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104.A project manager is quantifying risk for her project. Several of her experts are offsite, but
wish to

be included. How can this be done?

A.Use Monte Carlo analysis using the Internet as a tool.

B.Apply the critical path method.

C.Determine options for recommended corrective action.

D.Apply the Delphi Technique

104, — T H & HETE 2 S E LI H R Wi )L T K EATEG AL, (H2 AR ARAT]
K. XIZE AT
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105.You are working on a complex procurement. You must reach agreement with the seller
about numerous items including responsibilities and authorities, applicable terms and conditions,
contract financing, technical and business management approaches, and price before signing the
contract. You scheduled a negotiation session. The seller will have eight representatives at the
session; you will have ten. Because this procurement is so complex, contract negotiation should
be handled—

A.By an outside facilitator

B.Through alternative dispute resolution procedures

C.As an independent process with specific input and output

D.By establishing a partnering agreement with the seller

10545 H 37 1IE N F— TR A BRI TAE o ARLZHEREAT & [R] B A J5 7EVF 22 07 T B Is 3t
W, BRI L5 G RIVE M AT B[R R 58 SRR ML A8 P DA LA TR
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106.While working to identify and understand risk in the project, the project team would like to
graphically represent risks by displaying essential including decisions, uncertainties, causality and
objectives.The team should use what type of risk diagramming technique?

A.Charter diagram

B.Pareto diagram

C.Delphi diagram

D.Influence diagram

106. AL R AT 1 @0t H XSz A v, 30 H 121 B Ay Bl R AL 5 sUR IR . X 2e e n R
BAERF AT ETCR IR KRN H AR BN AE A S 7 feg IS B R 2



thys PMP {SELRSHIASR =18 ( £EEA ) offich upmp
B 24T
C AR AR

D. 521w &

107.While creating the project charter, a key stakeholder does not offer any input. The project
manager repeatedly asks the stakeholder to provide the necessary input to complete the
high-level requirements. Despite the project manager’s efforts, the situation does not improve.
What should the project manager do next?

A.Remove the stakeholder from the stakeholder list.

B.Assume the requirements together with the project team.

C.Add the missing input as a risk to the high-level risk description.

D.Escalate the issue to the project sponsor.
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109.To reduce time to completion and provide customers with a lower cost than originally
planned, the company assigns key talent to the project. The company’s strategy is to eliminate
an uncertainty associated with a particular upside risk by ensuring that the opportunity definitely
happens. Which risk response strategy has the company adopted?

A.Exploit

B.Share

C.Avoid

D.Mitigate

10909 1 4afa e T IE], JF % P S b Rt RSB AR BAS, AR FITH 73 Be 1 oSt A
Ao AERIRIEE, THER SRR E RN R AT E N, MR EE I, A7
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110.A company adopted globalization as a risk-mitigation strategy to deal with shrinking growth
prospects in developed economies. During the risk review board meeting, the project manager
realizes that the company’s global revenues are not growing at the expected rate. Where is the
project manager in the project’s life cycle?

A.Risk planning phase

B.Execution of risk response

C.Control risks phase

D.Process of closing risk register

110.— K A FER B R AT D9 ARG A, WX ik e B A o G KA S 4 /N 1)l
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111.During a project team meeting, a team member suggests an enhancement to the scope that
is beyond the scope of the project charter. The project manager points out that the team needs
to concentrate on completing all the work and only the work required. This is an example of:
A.change management process.

B.scope management.

C.quality analysis.

D.cope decomposition.
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112. Which tool does the project manager need to use?

A.Accept because it will add value to the project.

B.Report the change to management.

C.Seek the customer’s advice on the additional feature.
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113.You have just received formal acceptance of the project from your customer. Your next step
should be to

A.Distribute the acceptance documentation to other stakeholders as appropriate

B.File the acceptance documentation in the project archives

C.Document lessons learned with your staff

D.Conduct a project audit

113 FRIIAI S P 00 H IR A, AR — 20 Bz A 2
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114.Strengths, weaknesses opportunities, and threats ( SWOT) analysis helps the project
Manager to identify which of the following?

A.Stakeholder expectations

B.Mission statement

C.Project risk

D.Customer needs

11448, 5%, M5B (SWoT) 2 Hrae#s Bhii H &3 € T 519k — 1 2
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115.The target against which the project team will measure the effectiveness of its execution of
the risk response plan is based on the
A.Acceptable threshold for risk

B.Risk score
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C.Probability/impact risk rating

D.Overall risk ranking for the project
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116.A project manager takes on a project that is new to the company. There is no previous
experience from earlier projects. The project team focuses on risk management and begins the
process to identify risks. Which of the following are relevant risk identification methods?
A.Expert judgment, brainstorming, and Monte Carlo analysis

B.Delphi technique, brainstorming, and interviewing

C.Brainstorming, expert judgment, and lessons learned

D.Risk register, Delphi technique, and stakeholder analysis

116 U H & PHEE T AR BGIH , A" ERA X RIH iR, 5H BIRAE SR 71T X
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117.A Construction site is damaged by a storm. As a result , the project manager authorize the
procurement of replacement materials and additional resource to keep the project on schedule .
which document did the project manager use to make this decision?

A.Risk management plan

B.Inventory management plan

C.Procurement plan

D.Quality management plan
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118What should be done with risks on the watchlist?

Document them for historical use on other projects.

B .Document them and revisit during project executing.

C.Document them and set them aside because they are already covered in your contingency
plans.

D.Document them and give them to the customer.
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119.0ne week before the final delivery of a project, the project manager discovered a mistake
made by a technical team. This error will lead to a three-month delay. To solve this problem,
which of the following items should the project manager refer to?

A.Project Management Information System (PMIS)

B.Emergency Plan

C.Measurement of Technical Performance

D.Overall Change Control

119 FERASAT—ATHFT— A, BHZB R 7 A EARBBGER — MR XA IR
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120.After the work breakdown structure is crested, the project manager starts the Identify Risks
Process using the brainstorming technique. During this process, some potential risks are raised.
What should the project manager do?

A.Change the project scope to avoid the risks. B.Accept the risks and include their expected
value to the project budget.

C.Define potential responses

D.Implement workarounds to avoid the risks.

120. AR as M ar e, WiH Bl Sk K AR 8 1 IR RS AR, il Rt 17—
SEPR AR ARG, T H 2B NZ B A ?

A SE S0 Y DA LR] g XU

B4 32 AU 4 FL UM AW NI H T8

C. A R TR AE M L

D. St 2238 U5 58 LA [m] 8 XU

121.The asphalt highway project that the project manager is managing is 50% complete. The PM
planned on having 4,000 square yards of asphalt placed by now, but in actuality. They’ve finished
placing 8,000 square yards. The estimated cost forth is work was $ 1 per square yard. The actual
cost for this work is $ 8,000.What does this tell the project manager?

A.CPlis 2.

B.SPIis 2.

C.SPlis 0.50.

D.CPlis 0.50.
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A.CPlis 2.
B.SPlis 2.
C.SPlis 0.50.

D.CPlis 0.50.
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122.A project manager completes a project in a town where the company realized a loss of
100%.The project manager’s company is working on another project proposal in the same town
and the management asks the project manager to come up with a rough estimate that the
company can bid for the new project. The bidding must be completed within the next three days.
Which of the following types of estimates should the project manager provide in this situation?

A.Analogous

B.Parametric

C.Three-point

D.Reserve analysis

A KA 5

B.ZHU
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123.You have always been asked by your management to cut your project estimate by ten

percent after you have given it to them. The scope of your new project is unclear and there are
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over 30 stakeholders. Management expects a 25 percent reduction in downtime as a result of
the project. Which of the following is the BEST course of action in this situation?

A.Re-plan to achieve a 35 percent improvement in downtime.

B.Reduce the estimates and note the changes in the risk response plan.

C.Provide an accurate estimate of the actual costs and be able to support it.

D.Meet with the team to identify where you can find lo percent savings.
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124.Each time you meet with your project sponsor, she emphasizes the need for cost control on
your new-business project. She always asks you about cost performance in terms of which
budgets have been met and which have been met and which have not. To answer her concerns,
you should provide

A.Cost Performance baseline

B.Performance measurement graphs and charts

C.Resource productivityanalyses

D.Trend analysis statistics
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125.The project manager's analysis concludes the project's cost performance index is at 80%.
The project's actual cost to date is US$100, 000, but the project was predicted to cost
US$120,000 to date. What is the project's schedule performance index?

A.0.96

B.0.83

C.0.76

D.0.67
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126.There is an international collaborative project plan. The project manager is assigned to
produce a viable project plan to implement project. The project sponsor says that it may be
necessary to crash the project. As the project manager determines the project funding
requirements are needed to complete the task?

A.Activity cost estimates basis of estimates, scope baseline, project schedule, resource calendars,
contracts, and organizational process assets

B.Scope baseline, Stakeholder register, cost performance baseline, schedule baseline register,
enterprise environmental factors, and organizational process

C.Work performance measurements, budget forecasts, organizational process assets updates,
change requests, project management plan updates, and project documents updates

D.Control threshold, performance measurement, process description, process rates, unit

measures, and cost per work breakdown structure measures.
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127.The quality function deployment process is used to

A.Provide better product definition and product characteristics

B.Help products succeed in the marketplace

C.Help identify processes that are under way in other organizations that should be emulated
D.Support production planning and the just-in-time approach
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128.A project is executed in multiple phases. The project team completed their first phase of
deliverables. The first phase’s deliverables are validated for completeness. Which project
process is being performed?

A.Validate scope

B.Perform quality assurance

C.Control scope

D.Control Quality
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129.The construction phase of a new software product is near completion. The next phase is
testing and implementation. The project is two weeks ahead of schedule. What should the
project manager be MOST concerned with before moving on to the final phase?

A.Validate scope

B.Quality control

C.Performance reports

D.Cost control
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130.During project executing, a team member comes to the project manager because he is not
sure of what work he needs to accomplish on the project. Which of the following documents
contain detailed descriptions of work packages?

A.Work breakdown structure (WBS) dictionary

B.Activity list

C.Preliminary project scope statement

D.Project scope management plan
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131.A Team member was recently promoted as project manager and has been assigned a
S2million. The department manager schedules a meeting to review the project charter within
two weeks.What should the project manager do next?

A.Create the project scope statement.

B.Meet with the sponsor to define the business needs.

C.Schedule a kick-off meeting with team members.

D.Review the project management plans with the stakeholders.
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132. You are a project manager responsible for completing a new computer system.
Management expects the project to achieve high returns at low cost. You want to be able to
integrate time, cost and product functionality so that in the long run it adds value to the project.
However, a contractor of the project hired senior programmers, which made the contractor
more expensive than several other contractors. When working with stakeholders, you should
A.Divide stakeholders into easily identifiable categories

B.Intervention early on the behavior of stakeholders who may have adverse effects on the
project

C.Recognize that different stakeholders often have different goals, which makes stakeholder
management very difficult.

D.Recognizing that roles and obligations may overlap
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133.A project is divided into four phases. The second phase of the project has a 15% schedule
overrun. Before executing the next phase of the project, the project manager analyzes the root
cause for the schedule overrun and finds that one of the critical components supplied by a
vendor was faulty and had to be replaced. The vendor was penalized as per the terms of the
contract.The project manger should do which of the following before moving to the next phase?
A.Terminate all future contracts with the vendor.

B.Bring the vendor’s performance to the attention of senior management.

C.Add vendor’s reference in the risk register for that specific project component

D.Advise the vendor to vendor to avoid repeating the same mistake.
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134.A supplier is contracted complete a deliverable in which the buyer will pay the seller's cost
as well as provide a 1% fee for each day the deliverable is ahead of deadline . What type of
contract would be established with the supplier?

A.Fixed-price-plus-incentive-fee

B.Cost-plus-incentive-fee

C.Cost-plus-award-fee

D.Cost-plus-percentage-of-cost-fee
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135.As a buyer of services, the project manager has decided to execute a procurement audit.
What is the purpose of this audit?

A.Verify the delivery and acceptance of the contracted services.

B.Document lessons learned, successes and failures of the performing organization for future
reference.

C.Validate invoices and closure of the account.

D.Provide a formal contract closure.
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136.A project has a delivery date of March 1st, According to the key stakeholder, the budget is
flexible, but the delivery date must be met.Where does the project manager document this
information?

A.Project scope statement

B.Project schedule

C.WBS

D.project cost management
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137.A customer calls for competitive bidding of a project. The customer states the project cost is
$1.5 million. Bidder X, whose annual revenue is $0.5 million, is part of bidding process Annual
net cash flow from the potential customer’s project is $0.25 million.What is the pay back period
in this case as per Bidder X?

A.0.5years

B.2years

C.3years

D.6years
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138.Your project management experience has taught you that inappropriate responses to cost
variances can produce quality or schedule problems or unacceptable project risk. You are leading
a team meeting to discuss the importance of cost control. Many of your team members are new
to project management. To introduce this important topic to the team, you note that Cost
control is concerned with

A.Influencing the factors that create change to the cost baseline to ensure that the change is
beneficial

B.Developing an approximation of the costs of the resources needed to complete the project
C.Allocating the overall cost estimate to individual work items

D.Establishing a cost baseline
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139.A cost engineer was engaged by P&T Construction PLC to provide a cost estimate for the
first oil field piping project in China without any detail engineering data.What type of cost
estimate approach should the engineer use to provide an initial cost estimate to P&T
Construction?

A.Approximate estimate

B.Order of magnitude estimate

C.Definitive estimate

D.Feasibility estimate
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140. A project manager of a large project shares the performance information and prepares the
progress report. Which of the following methods will enable the project manager to quantify the
variances?

A.Performance Report

B.Expert judgment

C.Critical Path Method

D.Earned Value Method
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141. You are working on a project schedule. You have some software to make a schedule, but
those things are too complex and cumbersome, so you don't want to use these software. You
also have books on how to consider constraints when making a project plan, but the content in
those books is a headache. In order to make a project schedule in a simple and quick way, you
decide to give only the earliest and latest start and end times of each project activity. So what
time planning techniques did you use in the process?

A.Gantt chart
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B.Planning Review Technology

C.Critical Path Method

D.Monte Carlo Analysis
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142. manufacturing project is conducted under limited time constraints. At the point of delivery.
A large batch of components must be scrapped, as they do not meet the industry minimum
requirements.What should the project manager have done to prevent this problem?

A.Surveyed the industry standards and enterprise environmental factor

B.Initiated quality audits to ensure that the planned quality assurance activities are followed
C.Increased the focus on risk identification, mitigation and contingencies. D. 315 %% Bl 75 % 2E
D.Obtained approval from the sponsor to extend project time line.
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143.You are a project manager leading a cross-functional project team in a weak matrix

environment. None of your project team members report to you functionally and you do not
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have the ability to directly reward their performance. The project is difficult, involving tight date
constraints and challenging quality standards. Which of the following types of project
management power will likely be the MOST effective in this circumstance?

A.Referent

B.Expert

C.Penalty

D.Formal
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144.As part of the records management system, you are trying to make sure that all records
from the procurement are documented and indexed. Which of the following do you NOT have to
worry about?

A.Proposal

B.Statement of work

C.Terms and conditions

D.Negotiation process
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145.A project manager has just finished the risk response plan for a U.S. $387,000 engineering
project. Which of the following should he probably do NEXT?

A.Determine the overall risk rating of the project.

B.Begin to analyze the risks that show up in the project drawings.

C.Add work packages to the project work breakdown structure.

D.Hold a project risk reassessment.
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146.You worked for a Canadian provincial government and signed a contract with it. The
contract requires you to go to the government office every day. But last month, because of the
snowstorm, you didn't get to work in the office for three days. But which of the following
contract terms can you exempt yourself from punishment?

A.Non-mental health

B.Immediate implementation

C.Force Majeure

D.Amendment clause
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147.A project’s subcontractor did not deliver the work products as per the terms of the contract.
Despite repeated warnings, the subcontractor failed to deliver. The project manager escalated
their concerns to the management of the subcontractor’s company. However, this did not result
in any improvement in the subcontractor’s performances The project manager should take
which of the following action next?

A.Stop payment to the subcontractor

B.Initiate termination of the contract.

C.Take legal action against the subcontractor.

D.Follow the alternative dispute resolution process.
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148.The project has been challenging to manage. Everyone has been on edge to complete the
project on time. Unfortunately, the tension has grown to the point where team meetings have
become shouting matches and little work is accomplished during the meetings. One team
member asks to be excused from future team meetings, as all the shouting upsets him.
Meanwhile, the sponsor has asked to attend team meetings in order to better understand how
the project is going and the issues involved in completing the project, and the customer has
started discussions about adding scope to the project. In this situation, it would be best for the
project manager to:

A.ask the sponsor if the information needed could be send in a report rather than have him

attend the meeting.
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B.inform the team member who asked to be excused from the meetings of the value of
communication in such meetings.

C.create new ground rules for the meetings and introduce them to the team.

D.hold a team building exercise that involves all the team members.
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149.In the weak and strong matrix organizational structures, the primary condition leading to
conflict is

A.Communication barriers

B.Conflicting interests

C.Need for consensus

D.Ambiguous jurisdictions
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150.You have decided to award a contract to a seller that has provided its services to your
company frequently in the past. This seller has a good record in terms of schedule and cost

performance, and your working relationship with this seller is excellent. Your current project,
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although somewhat different from previous projects, is similar to other work the seller has
performed. In this situation, to minimize your risk you should award what type of contract?
A.Fixed-price with economic price adjustment

B.Fixed-price incentive (firm target)

C.Firm-fixed-price

D.Cost-plus-award fee
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151.Management has promised you part of the incentive fee from the customer if you complete
the project early. While finalizing a major deliverable, your team informs you that the deliverable
meets the requirements in the contract but will not provide the functionality the customer
needs. If the deliverable is late, the project will not be completed early. What action should you
take?

A.Provide the deliverable as it is.

B.Inform the customer of the situation and work out a mutually agreeable solution.

C.Start to compile a list of delays caused by the customer to prepare for negotiations.

D.Cut out other activities in a way that will be unnoticed to provide more time to fix the
deliverable.
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152.You recognize the importance of quality control for your project. However, you also know
that quality control has related costs and the project budget is limited. A way to reduce the cost
of quality control

A.Strive for all quality processes to pass ISO certification

B.Use statistical samples

C.Overseeing the whole process

D.Use Trend Analysis
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153.All of the following are part of quality audits EXCEPT?

A.Determine whether project activities comply with organizational policies
B.Determine inefficient and ineffective policies

C.Validated defect repair

D.Confirm the implementation of approved change requests
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154.The quality team performs an audit on the project and finds an issue with a deliverable. The
project team should do which of the following?

A.Create a change request and follow the integrated change control.

B.Fix the issue immediately.

C.Do an estimate for the issue and fix the issue.

D.Call the team for the meeting and discuss the issue
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155.Project X is in the testing phase and is behind schedule. The testing team identifies and
reports them to the test manager. These defects are attributed to 4 of the 11 requirements.
Since the project is behind schedule, the project manager concerned with the high number of
defects that are still outstanding. What tool should the project manager use to analyze this
situation?

A.Histogram

B.Pareto chart

C.Fishbone diagram

D.Fast tracking and crashing

155. 30 H X AbT-WRE B, FvE e TRERE, I AR ki, R AR g R A B
XU AT 11 WK 4 WK BT E %S TR, T 2 H0 K AR AR
RGBT L o T H 230 N %R B — A T E R 347 2

AE 7K

B.IH RIEI

CHaEK

D. BRI BRI AT T



th/y PMP {(SETREHIRER =18 ( £EEH ) offc PP

156.Which technique uses information based on “why-why” and “how-how” diagrams?
A.Failure Mode Effective Analysis (FMEA)

B.Corrective and Preventive Actions(CAPA)

C.Root cause analysis

D.Pareto diagram
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157.A construction company conducts bidder conferences for purchasing components for a
builders

project. The proposals are received and reviewed. One supplier proposes excellent rates that the
unrealistic for conducting sustainable business according to internal expert judgment.What
should the project manager next?

A.Ask the supplier to provide additional information about their cost structure.

B.Ask the procurement department to quickly sign the contract.

C.Add penalty clauses to the contract to ensure the supplier fulfills their obligations.

D.Change the cost baseline accordingly.
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158.A company’s management team wants to hire a resource to manage a software update to
the company’s existing product; the product is one of several in a department that has other
important activities. Which of the following candidates should be selected to manage the
software update?

A.Experienced software developer

B.External consultant

C.Department manager

D.Part-time project manager
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159.The WBS and WBS dictionary are completed. The project team has begun working on
identifying risks. The sponsor contacts the project manager, requesting that the U.S. SI00, 000
responsibility assignment matrix be issued. The project has a budget of and is taking place in
three countries using 14 human resources. There is little risk expected for the project and the
project manager has managed many projects similar to this one. What is the next thing to do?
A.Understand the experience of the sponsor on similar projects.

B.Create an activity list.

C.Make sure the project scope is defined.

D.Complete risk management and issue the responsibility assignment matrix.
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160.Your manager is a member of PMI. Once, when he was in the training course sponsored by
the company, he copied and distributed parts of PMBOK. The PMI Ethics Review Committee is
currently reviewing this case. You don't know about this case. Recently, you joined PMI. A
member of the Ethics Review Committee asked you to answer a series of questions about your
manager's misconduct. You should:

A.No participation, because you are not part of the ethics process.

B.Responsibility to cooperate with PMI on ethical violations and related information

C.No responsibility. You were not a member of the PMI when it happened.

D.No obligation to provide PMI with any information, because you do not have first-hand
information about this case.
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161.A government regulatory agency requires companies to comply with new mandatory
requirements. These requirements must be met by a set date or a fine will be imposed. In
response, the company initiates a project and assigns a project manager. The project sponsor
provides the project manager with a statement of work and a business case. What process
should the project manager handle next?

A.Develop Project Charter

B.Develop Project Management Plan

C.Collect requirement

D.Develop Project Schedule
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162.The project was going well when all of a sudden there are were changes to the project
coming from multiple stakeholders. After all the changes were determined, the project manager
spent time with all the stakeholders to find out why there were changes and to discover any
more. The project work has quieted down when a team member casually mentions to the
project manager that the team member added functionality to a product of the project. Do not
worry they say, "l did not impact time, cost or quality!" What should a project manager do

FIRST?
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A.Ask the team member how the need for the functionality was determined.

B.Hold a meeting to review the team member's completed work

C.Look for other added functionality.

D.Ask the team member how he knows there is no time, cost or quality impact.
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163.A project is in the middle of execution. The project is running behind schedule and faces cost
overruns. During this period, the customer requests a change to existing requirements. The
project manager should do which of the following action?

A.Discuss with the team member whether or not the change can be accommodated in the
current release.

B.Start to immediately work on the change to save time and cost

C.Ensure that the change is documented and the formal change process is followed.

D.Analyze the cost and schedule impact and inform the customer

163. 700 H H A Ab T-HhAT I BB B 300 H & Jm T30 R, i LT s s A 8 S e e 3K A
15, ZPRE AR A TR AE R TUH S HRZ R 5106 — T it ?

A5 B BA B B8 TR A 15 o v B

B.AZHITFARAZ S A, 757 4 I A A A

CHIRAR S C SRl sr, g E A2 H R

D. 73 Mt BRAS ANRE RG], I3 2 S



th/y PMP {(SETREHIRER =18 ( £EEH ) offc PP

164.0ne of the stakeholders on the project contacts the project manager to discuss some
additional scope they would like to add to the project. The project manager asks for details in
writing and then works through the scope control process. What should the project manager do
NEXT when the evaluation of the requested scope is completed?

A.Ask the stakeholder if there are any more changes expected

B.Complete integrated change control.

C.Make sure the impact of the change is understood by the stakeholder.

D.Find out the root cause of why the scope was not discovered during project planning.
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165.Your organization is having a difficult time managing all of its projects. You have been asked
to help senior management understand this. Which of the following types of reports would help
provide summary information to senior management?

A.Detailed cost estimates

B.Project management plans

C.Bar charts

D.Milestone reports
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166.As a project manager, you believe in a "humane" approach to team building. The effective
way to achieve this goal is to:

A.Create a name for the group

B.Setting Flexible Working Hours

C.Formulating project charter

D.Celebrations for important or special events

166.1F 9T H 4 78, ARHAE NI B9 7732 K0n 5 J BA A ¥ . BRI e 200 BERS 1k 21X A
H 5 %72

A/ NHBI R — A4 FR

B E R [ AR [a]

CHITT W H &8

D. 2y 5 () R 55 (0 FE 0 24T IR 3

167.When should be the right time to launch a formal acceptance of a project deliverables?
A.Before the deliverables have been instated in the client systems

B.after project deliverable have been instated in the client system.

C.after the project manager demonstrates that all client specifications have been completed
D.after the project manager reports that all client specifications have been completed
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168.Which of the following accurately describes the cost incurred for fixing bugs before the
product reaches the customer?

A.Appraisal
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B.Prevention
C.Internal failure

D.External failure
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169.Which process leads to continuous process improvement?
A.Quality assurance

B.Develop project management plan

C.Control quality

D.Risk management
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170.A project manger works in a weak matrix organization. The functional manager assigns the
project manager’s spouse to the project manager’s project. The functional manager insists that
the spouse is the only resource available. What should the project manager do in this situation?
A.Accept the resource as it is beneficial to the project and the spouse’s career growth.

B.Refuse the resource and communicate the risks to the sponsor.

C.Suggest that the organization assign a different project manager to manage the project.
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D.Accept the resource as there is no conflict of interest because the project manager and their
spouse report to different managers.
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171.A new project manager is responsible for managing a project in its execution phase. What
should project managers do to avoid interrupting ongoing work?

A.Update Change Control Log

B.Implementing the Overall Change Control Process

C.Revision of the Register of Stakeholders

D.Review of the Risk Register
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172. During the project execution phase, the company was restructured. As a result, a
department will be closed and its tasks will be outsourced. The project manager must adjust the
project documents according to the new organizational structure of the company. What parts of
the project management plan should be updated first?

A.Cost Management Plan, Communication Management Plan and Process Improvement B.Plan

Risk Management Plan, Human Resource Management Plan and Communication
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C.Process Revamping Plan, Risk Management Plan and Communication Management Plan

D.Human Resource Management Planning, Procurement Management Planning and Quality
Management Planning
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173. When the project enters three months, the project manager notices that many project
team members give negative comments on the work of other team members. What should the
project manager do?

A.Let the project sponsor lead a team building activity

B.Provide rewards to the team and improve team collaboration

C.Adding a team building activity to the agenda of weekly meetings

D.Review the basic rules with the team
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174. There are two experts in the project. They are important resources in this field. They have
different opinions on some issues. What attitude should they take?

A.cooperation

B.avoidance

C.forced
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D.compromise
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175. The project sponsor instructs the project manager of a high-end project to reduce the
budget by 10%. In addition, the project sponsor requests regular updates before stakeholder
notification and, in some cases, before team member notification. The project sponsor explained
that the CEO and the leadership team had approved these changes at the last management
meeting. What should the project manager do next?

A.Implementing project tasks defined in the project management plan

B.Update the project budget and schedule in accordance with these requests

C.Inform project stakeholders and project team members of the request

D.Review change management plans and stakeholder communication needs
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176.A customer initiates a new strategic project, Which must be completed by the end of the
year. The project is critical to the strategic success of the customer. An idea about the scope,
budget, and timeline has already been discussed.What else should be included in the project

charter?
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A.Approved budget, named resources, and fixed-end date

B.Quantified risks, limits and exclusions, and revised milestone dates

C.High-level requirements, high-level risks, and identified scope

D.Project plan, scope plan, and resource plan
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177. Manufacturing companies are experiencing a large number of product defects. Project
managers are appointed to manage a project to reduce the defect rate. What should project
managers do?

A.Making Quality Management Plan

B.Implementing the Quality Assurance Process

C.Implementing quality control process

D.Recording Experiences and Lessons
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178.A company wants to be the industry global market leader and starts a project to develop a
new product implementing an innovative technology, what should the company's project
initiator complete first?

A.Business argumentation
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B.project plan

C.procurement plan

D.procurement plan
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179. After testing a software implementation project, users report that they do not believe the
product provides the promised functionality. What should project managers do about this?
A.Process analysis

B.Check customer concerns according to scope management plan

C.Make change requests and improve the process

D.Check the user's concerns according to the process improvement plan
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180.Half -way through a project, a project manager discovered the earned value the past couple
of months have been erroneous. What should be the project manager’s priority?

A.Make no changes but plan to discuss with the sponsor.

B.Discuss a future course of action with stakeholders.

C.Take ownership for the error and identify corrections promptly.

D.Change the schedule and plan to match the earned value reports.
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181.After discovering that several external stakeholders were not identified correctly, the
project manager invented a method to better identify these stakeholders. What should the
project manager update to ensure that the problem and solution are communicated with the
project management team of the whole company?

A.Lessons learned

B.Stakeholder Management Plan

C.Communication Management Plan

D.Project Management Office (PMO) Documentation
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182.A project is in the middle of the executing processes when a stakeholder suggests a major
new change. This change will cause the third major overhaul of the project. At the same time,
the project manager discovers that a major work package was not completed because a team
member's boss moved him to another project that had a higher priority. Which of the following
is the best person for the project manger to address these issues with?

A.Team

B.Senior management
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C.Customer

D.Sponsor
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183. You are the manager of a project to build a pig farm* Local residents and environmental
groups opposed the project. They have provided a series of data showing that the burning of
viscera and pig carcasses in factories will produce harmful or even poisonous gases, which are
harmful to local residents. They threatened to take the company to court. You find that a lot of
your time is spent trying to calm their fears. After spending a lot of time and energy, you
persuaded management to agree to move the project to a new factory site outside the town.
This is an example of what kind of risk response is as follows:

A.Passive acceptance

B.Active Acceptance

C.Risk mitigation

D.Risk Avoidance
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184.During project executing, a major problem occurs that was not included in the risk register.
What should you do FIRST?

A.Create a workaround.

B.Reevaluate the risk identification process.

C.Look for any unexpected effects of the problem.

D.Tell management.

184 AL H PATE B, AT — M E A, 2% A KBl b FRMIZ e B Al ?
ARSI AL it

B. EE T DAt TR KU i A

C. - $RZ il FER T (52 i

D. 2 AN 2

185:. The project manager is collating documents for acceptance of product deliverables. What
should the project manager do when accepting deliverables?

A.Deliverable Outcomes of Closed Projects

B.Archiving deliverables

C.Transfer of ownership of deliverables

D.Collect customer feedback on deliverables
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186.Upon completion of the work, the seller requests to sign and agree to the formal conclusion
of the contract. What should be done before accepting and approving the end?

A.Confirm that the Seller meets the schedule and budget stated in the Purchasing Management
Plan and Contract Documents

B.Perform inspections and audits to check the compliance of the seller's workflow and
deliverables

C.Develop a complete set of documents to be included with the final project documents

D.Survey customer satisfaction with completed work
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187.The project manager of a complex construction project wants to minimize the risk exposure
of the procurement process. When purchasing concrete, which type of contract should the
project manager choose?

A.Cost plus Incentive Cost Contract (CPAF)

B.Material Contract (T&M)

C.Total Price plus Incentive Cost Contract (FPIF)

D.Fixed Total Price Contract (FFP)
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188.At present, two companies are going to sign a fixed price plus bonus contract. The two sides
have agreed that the target cost of the contract is $200,000 and the bonus is $30,000, so the
price of the contract is $230,000. The buyer also set a maximum price of $270,000 and a "73%
split" rate. If the seller completes the contract at the actual cost of $170,000, how much will the
buyer pay the seller in addition to the cost of the contract?

A.21,000 dollars

B.35,000 dollars

C.39,000 US dollars

D.51,000 US dollars
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189.In the initiation phase of your project, it is apparent that factions within the client's
company have significantly different views on how the project should be structured and how the
deliverables should be defined. Which of the following is the BEST thing to do?

A.Ask the client when they will be iii agreement on the project requirements.

B.Work with leadership from each area to collaboratively engineer a mutually acceptable
solution.

C.Make sure the terms and conditions of the contract are clear.

D.List the consequences of changes in the contract's requirement section.
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190.0f the options below, what is the most significant action the project manager will take for a
virtual team project?

A.Send a project plan to all members.

B.Develop a communication management plan.

C.Obtain and analyze team members’ expectations.

D.Review the team members’ skill.
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191.Management has promised you part of the incentive fee from the customer if you complete
the project early. While finalizing a major deliverable, your team informs you that the deliverable
meets the requirements in the contract but will not provide the functionality the customer
needs. If the deliverable is late, the project will not be completed early. What action should you
take?

A.Provide the deliverable as it is.

B.Inform the customer of the situation and work out a mutually agreeable solution.

C.Start to compile a list of delays caused by the customer to prepare for negotiations.

D.Cut out other activities in a way that will be unnoticed to provide more time to fix the

deliverable.
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192.You are responsible for managing a production project. Based on the inspection of product
quality control, the superior leaders believe that in order to prevent problems in other projects
in the future and to minimize the rework rate, it is necessary to take necessary corrective
measures for the Raw Material Demand Planning (MRP) system. To implement these necessary
changes, you should follow

A.Company's Quality Policy

B.Quality Management Plan

C.Established operational definitions and procedures

D.Procedures for Total Change Management Control
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193.The project manager starts a project and queries the organizational process assets of a
similar project completed previously. What technology does the project manager adopt?
A.reference

B.Attribute sampling
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C.Benchmarking

D.Analogical Estimation
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194.The quality team performs an audit on the project and finds an issue with a deliverable. The
project team should do which of the following?

A.Create a change request and follow the integrated change control.

B.Fix the issue immediately.

C.Do an estimate for the issue and fix the issue.

D.Call the team for the meeting and discuss the issue
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195.The project manager has been appointed to manage a new project and is identifying and
evaluating information about everyone affected by the project. What documents should the
project manager consult?

A.Implementation, Responsibility, Consultation and Informed (RACI) Matrix

B.Stakeholder Register

C.Project scope statement
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D.Project Charter
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196.During the project, you realize you need a consultant immediately to begin working on a
project. What is the MOST appropriate contract type in this situation?

A.Fixed price (FP)

B.Start work order

C.Time and material (T&M)

D.Cost plus fixed fee (CPFF)
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197.In the middle of a three-year project, a new project manager was appointed. At the first
team meeting, the project manager learned about the flood and how it could destroy equipment.
What should a project manager do first?

A.Buying flood insurance for equipment to mitigate this risk

B.Field visits, assessment

C.Check the risk management plan

D.Tracking the problem, but not acting immediately
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198. The project manager discovers an unpredictable high-impact risk has become a factor in the
project. self-interest among team members is keeping the issue from being reached, The project
manager must act quickly to refocus the team and get the project on tack. which of following
techniques should the project manager use to resolve the issue?

A. Compromise

B.Collaborate

C.Force

D.Accommodate
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199. By building up your reputation in a team, you can promote communication between
yourself and other members of the team. This process involves building and maintaining
credibility. Which of the following is not conducive to this aspect of behavior?

A.Be flexible and listen to different opinions

B.Respect others

C.Show your expertise by answering

D.Be trustworthy and unswerving
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200. Senior management identifies the initial scope and high-level requirements for
implementing a new warehouse management system. Which of the following must happen to
start the project?

A.Need to define external and internal stakeholders

B.Project managers need to approve project scope specifications

C.Need to approve the project plan

D.Final approval of the overall financial budget is required
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